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Grade 5 Mathematics Reference Sheet

CONVERSIONS
1 mile = 5,280 feet 1 pound = 16 ounces 1 cup = 8 fluid ounces
1 mile = 1,760 yards 1ton = 2,000 pounds 1 pint = 2 cups
1 quart = 2 pints
1 gallon = 4 quarts
1 liter = 1,000 cubic centimeters
FORMULAS

Right Rectangular Prism

V =BhorV = lwh
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2-Point Holistic Rubric

2 Point A two-point response includes the correct solution to the question and
demonstrates a thorough understanding of the mathematical concepts
and/or procedures in the task.

This response

* indicates that the student has completed the task correctlv, using
mathematically sound procedures

* contains sufficient work to demonstrate a thorough
understanding of the mathematical concepts and/or procedures

* mav contain inconsequential errors that do not detract from the
correct solution and the demonstration of a thorough
understanding

1 Point A one-point response demonstrates only a partial understanding of the
mathematical concepts and/or procedures in the task.

This response
correctly addresses only some elements of thetask
mav contain an incorrect solution but applies a mathematically
appropriate process
* mav contain the correct solution but required work is
incomplete
0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a

correct solution obtained using an obviously incorrect procedure.
Although some elements may contain correct mathematical procedures,
holistically thev are not sufficient to demonstrate even a limited
understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session
leaves an entire constructed-response question in that session completely blank (no
response attempted).
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Score Points:

3-Point Holistic Rubric

3 Point A three-point response includes the correct solution(s) to the question and demonstrates a
thorough understanding of the mathematical concepts and/or procedures in the task.
This response
* indicates that the student has completed the task correctly, using mathematically
sound procedures
* contains sufficient work to demonstrate a thorough understanding of the
mathematical concepts and/or procedures
®* may contain inconsequential errors that do not detract from the correct solution(s)
and the demonstration of a thorough understanding
2 Point A two-point response demonstrates a partial understanding of the mathematical concepts
and/or procedures in the task.
This response
* appropriately addresses most, but not all aspects of the task using mathematically
sound procedures
®* may contain an incorrect solution but provides sound procedures, reasoning, and/or
explanations
* may reflect some minor misunderstanding of the underlving mathematical concepts
and/or procedures
1 Point A one-point response demonstrates only a limited understanding of the mathematical
concepts and/or procedures in the task.
This response
* mayv address some elements of the task correctly but reaches an inadequate solution
and/or provides reasoning that is faultv or incomplete
* exhibits multiple flaws related to misunderstanding of important aspects of the task,
misuse of mathematical procedures, or faulty mathematical reasoning
* reflects a lack of essential understanding of the underlving mathematical concepts
may contain the correct solution(s) but required work is limited
0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a correct solution

obtained using an obviously incorrect procedure. Although some elements mav contain
correct mathematical procedures, holistically they are not sufficient to demonstrate even a
limited understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session leaves an entire
constructed-response question in that session completelv blank (no response attempted).
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2017 2- and 3-Point Mathematics Scoring Policies

Below are the policies to be followed while scoring the mathematics tests for all grades:

1.

10.

If a student shows the work in other than a designated “Show your work™ or “Explain™
arca. that work should still be scored.

If the question requires students to show their work, and the student shows appropriate
work and clearly identifies a correct answer but fails to write that answer in the answer

blanl, the student should still recerve full credat.

If students are directed to show work, a correct answer with no work shown recerves no
credit.

If students are not directed to show work, any work shown will not be scored. This
applies to items that do not ask for any work and items that ask for work for one part and
do mot ask for work in another part.

If the student provides one legible response (and one response only), the rater should
score the response, even if it has been crossed out.

If the student has written more than one response but has crossed some out, the rater
should score only the response that has not been crossed out.

Trial-and-error responses are not subject to Scoring Policy #6 above, since crossing out 1s
part of the trial-and-error process.

If a response shows repeated occurrences of the same conceptual error within a question,
the conceptual error should not be considered more than once in gauging the
demonstrated level of understanding.

In questions requiring number sentences, the number sentences must be written
horizontally.

Condition Code A 1s applied whenever a student who 1s present for a test session leaves
an entire constructed-response question in that session completely blank (no response
attempted). This 15 not to be confused with a score of zero wherein the student does
respond to part or all of the question but that work results 1n a score of zero.
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46

Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds 1% pints of water when filled.
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry’s claim is not true.

Answer
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EXEMPLARY RESPONSE

46

Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds ‘l% pints of water when filled.
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Eecommended amount of water: 8oz % 8 times a day = 64 fl. oz a day

Omne pint equals 16 ounces: 64 = 16 = 4 pints recommended per day

Harrv drinks 134 pints of water three times: 1% x 3 = 334 pints of water

Harrv should drink an additional ¥ pint of water

Or other valid response
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GUIDE PAPER 1 Additional

46

Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds 1% pints of water when filled.
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Answer

T
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1
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N

3

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The total number of pintecommendegber day is correctlydentified and
compared to the numbef pintsthat Harry drank in @ay. This response is complete
and correct usingnathematicallysound procedures.
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GUIDE PAPER 2

46 |  Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

B times a day. Harry has a water bottle that holds 1% pints of water when filled,
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The total number of fluid oundesommended to dringer day is correctly
identified and appropriatelycompared to the total number of actdlalid ounces
Harry drank in a dayThis response is complete and correct usimaghematically
sound procedures.

Page8



GUIDE PAPER 3

46 Harry's fitness trainer recommends that Harry drink 8 fluid cunces of water

8 times a day. Harry has a water bottle that holds i% pints of water when filled,
Teday, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommen&ed by his fitness

trainer. Explain why Harry's claim is not true.

Answer
MC); w")%@ \ﬂf’ LF\TZUHIK /% 3/(_4
gints o wukten ol M y 3 -
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ScorePoint 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The totahumber of pints recommend@er day is correctlydentified and
correctly compared to theumberof pints that Harry drank in one daphis response

is complete and correct usingathematicallysound procedures.
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GUIDE PAPER 4

46 Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds 1% pints of water when filled.
Teday, he has filled the water bottle three times and drank all of the water each time.

Harry claims that he drank the total amount of water recomman&ed by his fitness

trainer. Explain why Harry's claim is not true.

Answer

)
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Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical cq
in the task. The total number of fluid ouncesommendeger day and theotal
number of pints that Harrgrank in a day iscorrectly identified howeverthere is an
incorrect conversion of fluid ouncés pintsfor the recommended daily amoufhe
response correctly addresses only some elemettis tdisk.
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GUIDE PAPER 5

46 Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds i% pints of water when filled,
Teday, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommen&ed by his fitness

trainer. Explain why Harry's claim is not true.

Answer

Roccn s plon $= Pncacvec k. hecase
h's Pbness Lotner Sad > dlink & Huid
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Score Point 1 (out of 2 points)

This response deonstrates only a partial understanding of the mathematical cong
in the task. The tal number of fluid ounces recommendpdr day is correctly
identified however, the total fluid ounces that Harry drank in oneislapt identified
correctly and only3 pintsareaccounted for and not the additiodalof a pint. This
responseorrectly addresses only some elements of the task.
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GUIDE PAPER 6

46 |  Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

B times a day. Harry has a water bottle that holds 1% pints of water when filled,
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Answer

1 - ' ' }
1< 1.{"‘|n‘}f' '-‘:: 2L alVFeL-¥ 2 twn@s 1+‘i

é Yps. Q}u u" one fom‘l'% 7
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__:;_"Q_LCJ_H:J, Oun c€s . 6{.{’7 }'\E hE_E‘Sl_:;
64 ‘Ffu'.é. ounces . M < LY.

Score Point 1 (out of 2 points)

This response demonstrates only a partial understgudithe mathematical concept
in the task.The total fluid ounces recommendpér dayis correctly identified and a
correct comparison is made between what Harry drank and the recomnaemuoleat
however, the actual amount of water Harry consumed isrrecio This response
correctly addresses only some elements of the task.
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GUIDE PAPER 7

46 Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds 1% pints of water when filled,
Teday, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Answer

Hﬁrﬁ%ﬁ% Ol 15 ot toue, He 1S not deue oanse
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Score Point 0 (out of 2 points)

Holistically, this response is not sufficient to demonstrate even a Ilim
understanding of the mathematical concepts éntéisk Although the number of pints
that Harry drank in one day is identifigdis incorrect. The recommended amount i
not addressdand no comparison is made.
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GUIDE PAPER 8 Additional

46 Harry's fitness trainer recommends that Harry drink 8 fluid ounces of water

8 times a day. Harry has a water bottle that holds 1% pints of water when filled,
Today, he has filled the water bottle three times and drank all of the water each time.
Harry claims that he drank the total amount of water recommended by his fitness

trainer. Explain why Harry's claim is not true.

Answer
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Score Point 0 (out of 2 points)

This response is not sufficiemo demonstrate even a limited understanding of 1
mathematical concepts in the task. The response copies some of the re
conversions from the reference sheetit the amount of water Harry drank is
incorrectly identifiedand the recommended amoishot calculated.
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47 2

Rodney bought a 25-pound bag of dog food. His dog ate U pounds of the food
4
in the first month and 10— pounds of the food in the second month. How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your work.

Answer pounds
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EXEMPLARY RESPONSE

47

~

Rodney bought a 25-pound bag of dog food. His dog ate W‘:z pounds of the food
in the first month and ":R pounds of the food in the second month, How much

dog food, in pounds, was remaining in the bag at the end of the twe months?

Show your work.
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Or other valid response

345

Answer _ pounds
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GUIDE PAPER 1 Additional

47 Rodney bought a 25-pound bag of deg food. His dog ate 10% paunds of the food

. ; 4
in the first month and 10? pounds of the food in the second menth. How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your work.

?) |8
Answer __ =5, pounds

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The total amount obg food consumed for the two months is correci
calculated and the difference between the amount purchased and the an
consumed is correctly determined using mathematically sound procedures.
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GUIDE PAPER 2

47

Radney bought a 25-pound bag of dog food. His dog ate 1[!% pounds of the food

4
in the first month and 11}? pounds of the food in the second month, How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your work.

Answer e pounds

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total amount of dog food consumed for the two months is corre
calcubted and the difference between the amount purchased and the an
consumed is corrdgtdetermined using mathematically sound procedures.
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GUIDE PAPER 3

47

2
Rodney bought a 25-pound bag of dog food. His dog ate 10— pounds of the food

5
) 4
in the first month and 103 pounds of the food in the second month. How much

dog foed, in pounds, was remaining in the bag at the end of the two months?

Show your work.

= -y [}
.:II.-I . ‘1|'I"'l. & '_._
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) &5 B L2 Vos
Ly
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LAY
Angwer ) % pounds

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total amount of dog food consumed for the twonths is correctly
calculated and the difference between the amount purchased and the an
consumed is correctly determined using mathematically sound procedures.

Page 19



GUIDE PAPER 4

47

Redney bought a 25-pound bag of dog food. His dog ate 10

£

3 pounds of the food

|
in the first month and 1I}E pounds of the food in the second month, How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your work.

m
-
| -

Answer = % paunds

Score Point 1 (out of 2 points)

This responsdemonstrates dyna partial understanding of the mathematical conce
in the task. The response starts with the total amount of dog food purchase
subtracts the amount consumed in the first month and then the amount consur
the second month; however, a calcaaterroroccursin the subtraction operatidor

the first month This response contains an

mathematically appropriate process.

incorrect solution but applieg
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GUIDE PAPER 5

47

2
Rodney bought a 25-pound bag of dog food. His dog ate ‘II}E pounds of the food

4
in the first month and 10; pounds of the food in the second month, How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show pour waork.

B |
ﬁ"'-.-l C}‘!h 17 1'l.l 0 '.Il

pef A
1|J‘i."'.1.?"1':l.+|||"‘l| = )
| 0¥F |

Answer q"’l -LE pounds

Score Point 1 (out of 2 points)

This responsdemonstrates only aapial understanding of the mathematical conce
in the task. The total amount of dog food consumed during the two montk
correctlydetermined; however, the difference between the amount purchased ar
amount consumed is na@ddressedThis responseorrectly addresses only som
elements of the task.
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GUIDE PAPER 6

47

2
Rodney bought & 25-pound bag of dog food, His dog ate ‘IE"E- pounds of the food
. . 4
in the first month and 103 pounds of the food in the second month. How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your work. /

Answer _3_';‘7_ . pounds

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. The total amount of dog food consumed dutlregtwo months is
appropriately determined; however, therk to determine the difference between th
purchased amount and consumed amount is not provided. This response contg
correct solution but required work is incomplete.
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GUIDE PAPER 7

47 : 2
Rodney bowght a 25-pound bag of dog food. His dog ate WE' pounds of the food
im ther Tirat month ared 19% pourchs of the fowd in the second month. How much

dog foed, in pounds, was remaining in the bag at the end of the two months?

Show your work.

=
S A
=
—
Answer —E _ pounds

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding (¢
mathematical concepts in the ta3ke difference between the amounts of dog fog
consumed in the two morghs irrelevant to the task
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GUI DE PAPER 8 Additional

47

2
Redney bought a 25-pound bag of dog feod, His dog ate 1:]*;5- pounds of the food
, 4 )
in the first month and 'I'IZIE pounds of the food in the second manth. How much

dog food, in pounds, was remaining in the bag at the end of the two months?

Show your wornk,

f;«.’g %
Answer pounds

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding (¢
mathematical concepts in the tagkthough the correct solution isrovided,as per
Scoring Policy 8, if students are directed to show work, a correct answer with
work shown receives no credit.
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48

Sixteen students in a drama club want to attend a play. The ticket price is $35 for each
student, and the transportation and meals for everyone will cost $960.

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be enough money to pay for the entire cost of
the trip?

Show your work.

Answer sweatshirts
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EXEMPLARY RESPONSE

48

Sixteen students in a drama club want to attend a play. The ticket price is 35 for each
student, and the transportation and meals for everyone will cost $960.

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be enough money to pay for the entire cost of
the trip?

Show your work.

£960 + 16 (835) = Cost of trip forall 16 students
$960 + $560 = $1520 cost of trip for all 16 students
$1520 = 16 = $95 cost per student

$95 = $19 = 5 sweatshirts each student must sell

Or other valid response

Answer sweatshirts
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GUIDE PAPER 1 Additional

Sixteen students in a drama club want to attend a play. The ticket price is $35 for each

student, and the transportation and meals for everyone will cost $960,

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be enocugh money to pay for the entire cost of

the trip?

| %1414 | i [%U S cuedtshir (s

I\!I.-

AnRswer sweatshirts

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of thenmadittal concepts in
the task. The total amount of money needed to attend the play is correctly calc
andusedto correctly determine the number of sweatshirts that each student neg

sell using mathematically sound procedures.
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GUIDE PAPER 2

48

Sixteen students in a drama club want to attend a play. The ticket price is $35 for each
student, and the transportation and meals for everyone will cost $960,

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be enough money to pay for the entire cost of

the trip?
I
Show your work. g 94 c
335 Y
'(II-."_; 'lr
e e
dlo i 151
L5 0
KL 6o
- w e f (
]
fl.{ |_r"'.-_-:|r, J";-/?%‘Q
J4q gy T
ool 4y
?__.'.-. [:-\
Answer g sweatshirts G,

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total amount of money needed to attend the play is correctlyatattu
and usedto determine theorrect number of sgatshirts that each student needs

sell.
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GUIDE PAPER 3

48

Sixteen students in a drama club want to attend a play. The ticket price is $35 for each

student, and the transportation and meals for everyone will cost $960,

To pay for the trip, the students design sweatshirts to sell for a profit of $12 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be encugh money to pay for the entire cost of
the trip?

Show your work.
i GO \G Shderis
| 160 ({60

e G T T
._ :

Answer 5 sweatshirts &ac h

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The totalcost for transportation and meals is correctlyided among all
students and that amount is then added to the pfioaeticket to determine thotal
costper studentThe cost for one student is correctly divided by the pfadin one
sweatshirt to determine the correcimber of sweatshirts thaaieh student must sell
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GUIDE PAPER 4

48 Sixteen students in a drama club want to attend a play. The ticket price is $35 for each

itﬁgi'lt‘ and the transportation and meals for everyone will cost $960,
e il
To pay for the trip, the students design sweatshirts to sell for a profit of $19 per

sweatshirt. If each student sells the s\.a/w,@%hm many sweatshirts
FUST 8ach student sell so that there will be encugh money to pay for the entire cost of
W -

@ Show your work.
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r350
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Answer 6 O sweatshirts

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical cong
in the task. The total amount of money needed for all students to attend tlanglg
the total number of sweatshirts that need to be sold by all studerdsrrectly
calculated; however, the number of sweatshirts that need to be sold by one stu
not determined. This response correctly addresses only some elements of the tas
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GUIDE PAPER 5

48

El hSixteen students in a drama club want to attend a play. The ticket price i@for each

iu_gi_?_rl_t, and the tﬁnﬁfﬂmn and meals for everyone will cost Ef_gu

To pay for the trip, the students design sweatshirts to sell for a profit nfﬂ per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts
must each student sell so that there will be encugh money to pay for thel entire cost of
the trip? y )

Skow your work.
5

16

¥ B

.80

18
E‘Sé O -—}"1,“1':]‘-(’"['-5 |

$‘q G @I-ﬂp"x'r'ﬂtﬁ‘:';bf"‘llﬁ?“\‘l on ¢ meals

C

Answer sweatshirts

ScorePoint 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. The total amount of money needed for all students to attend the p
correctly calculated; however, thember of sweatshirts that need to be sold is 1
addressedThis response correctly addresses only some elements of the task.
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GUIDE PAPER 6

48

A °
ARnswer sweatshirts

Sixteen students in a drama club want to attend a play. The ticket price is $35 for each
student, and the transportation and meals for everyone will cost $960,

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per
sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts

must each student sell so that there will be encugh money to pay for the entire cost of
the trip?

Show your work.

4
o)
e
BQ

1

.
()
O

This responséemonstrates only a partial understanding of the matieahaoncepts
in the task. The total amount of money needed for all students to attend tlanglg
the total number of sweatshirts that need to be sold by all stutdectsrectly
calculated; however, the number of sweatshirts that need to be sole Isyudent is
not determined. This response correctly addresses only some elements of the tas

Score Point 1 (out of 2 points)
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GUIDE PAPER 7

48

Sixteen students in a drama club want to attend a play. The ticket price is\$35 for each
student, and the transportation and meals for everyone will -.
To pay for the trip, the students design sweatshirts to sell for a profit of @

sweatshirt. If each student sells the same number of sweatshirts, how many sweatshirts

must each student sell so that there will be encugh money to pay for the entire_g_ost_gf

the ip?

Sty ok ;qm?& ?a 1.

——————

__JD 76“” 5

b
(0

AnSWer o O sweatshirts

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding ¢
mathematical conges in the task. The work shown is incoherent and incorrect.
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GUIDE P APER 8 Additional

48

g
Su';'cteen students in a drama club want to attend a play. The ticket price is $35 for each
student, and the transportation and meals for everyone will cast seg, -

To pay for the trip, the students design sweatshirts to sell for a profit of $19 per

sweatshirt. If each student sells the same number of sweatshirts. how many sweatshirts
must each student sell so that there will be encugh money to pay for the.actics cost of,
the 1rps
Show wur’%uwﬁ. — ﬂq {:—)j ’
x i U e M
s w60 \B\19420

for »~ 19 RELRY

7 go el RNy

5{_9{:) ‘1‘%}"5 \90 " aii "‘,rO

L s
+ f}lg

Answer é’ q 5 sweatsnirks

Score Point 0 (out of 2 points)

Holistically, this response is not sufficient to demonstrate even a Ilim
understanding of the concepts in the ta8khough the ttket price is correctly
multiplied by the 16 students, the transportation and meal cost is also multiplig
16. This incorrect totais divided by 160 determine the cost per student; however
is provided as the solutiothe number osweatshirt¢o be sold is not addressed.
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49

Jessie set up a lemonade stand for three days.
2
*  On Saturday, she sold 10 3 gallons of lemonade.
1
* On Sunday, she sold 3'_i gallons more than she sold on Saturday.
2
* On Monday, she sold 2'_-} gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Show your work.

Answer gallons
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EXEMPLARY RESPONSE

49

Jessie set up a lemonade stand for three days.
+ On Saturday, she sold tui gallons of lemonade.
+ On Sunday, she sold 3% gallons more than she sold on Saturday.
+ On Monday, she sold 2% gallons less than she sold on Sunday.
How many gallons of lemonade did Jessie sell on Monday?

Show your work.

Lemonade sold on Saturday: 10%5 gallons
Lemonade sold on Sunday: 10% + 3% = 1334 gallons = 14 gallons
Lemonade sold on Monday: 13%; =233 = 11Y4 gallons

Or other valid response

11%5

Answer gallons
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GUIDE PAPER 1 Additional

49 Jessie set up a lemonade stand for three days.

2
* On Saturday, she sold 103 gallons of lemonade.

1

* On Sunday, she sold 3? gallons more than she sold on Saturday.
2

* On Monday, she sold 23 gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Show your work.

Answer ﬁ_ gallons

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The number of gallons of lemade sold on Monday is calculated correct

using mathematicallgound procedures.
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GUIDE PAPER 2

49

Jessie set up a lemonade stand for three days.

= On Saturday, she sold 10% gallons of lemonade,

1
= On Sunday, she sold 3? gallons more than she sold on Saturday.

2
* On Monday, she sold 23 gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday? o =

Show your work.

JJ!LS

R3] ’
—— \O\ O\ 9
e S vl\oi‘w}f S
?h"b}'y ? G{\ i B,
1 thﬁ_..f‘" \\\.‘ v
#,- | X {—g}\
’ \\ rj-

A\
Answer = gallons

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The number of gallaof lemonade sold on Monday is calculated correg
using mathematically sound procedures.
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GUIDE PAPER 3

49

Jessie set up a lemonade stand for three days.

* On Saturday, she sold 1{]% gallons of lemonade,

* On Sunday, she sold 313- gallons more than she sold on Saturday.

2
= On Monday, she sold 23 gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Seut
Show your work. IIC.} E_ +5__I_ m 3
5 5 s "
it ' ‘—r mh Sundg
l Lr ol ;l P:g‘:)e‘ih G Y b
| S .
|~ 2 o = 3
j '
= 1 ;
1 | 3 ':““\K A
o
it AN o
=

Answer IJ ; gallons

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong

the task.-The numberof gallons of lemonade sold on Monday is calculated correq
using mathematically sound procedures.
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GUIDE PAPER 4

49

Jessie set up a lemonade stand for three days.

2
* On Saturday, she sold 1ﬂ§ gallons of lemonade.
1
* On Sunday, she sold 3-5 gallons more than she sold on Saturday.
2
* 0On Monday, she sold 2? gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Show your work.

o \O
@ == e =

Answer _I_Z_ gallons

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical cong
in the tak. The amount of lemonade sold on Sunday is correctly calculated; how,
the calculation for the amount of lemonade sold on Monday contains multiple €
and results in an incorrect solution. The response correctly addresses only
elements of théask.
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GUIDE PAPER 5

49 lessie set up a lemonade stand for three days.

2
* On Saturday, she sold ‘ID? gallons of lemonade.

1
*  On Sunday, she sold 33 gallons mere than she sold on Saturday.
2
* On Monday, she sold 2? gallons less than she sold on Sunday.
How many gallons of lemonade did Jessie sell on Monday?

Show your work. f"‘-_

i
Answer _| & ) gallons

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. The amount of lemonade sold on Sunday is correctly calculated ar
operation to calculatthe amount of lemonade sold on Monday is correct; howe
the fractionalportions of the mixed numbers aaelded instead of subtractetihe

response contains an incorrect solution but applies a mathematically appro
process.
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GUIDE PAPER 6

49 Jessie set up a lemonade stand for three days.

2
* On Saturday, she sold 103 gallons of lemonade.
1
= 0On Sunday, she sold 3? gallons more than she sold on Saturday.
2
* 0On Monday, she sold 2? gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

R /#
/0% z gzi

e /6 2

—

I P
23 . 3

bz
Answer gallons

ScorePoint 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. The amount of lemonade sold on Sunday is correctly calculated; hov
the amount of lemonade sold on Mondaycalculatel as2?g gallonsmore than on
Sunday rathethan 2g gallonslessthan on SundayThis response correctly addresseg
only some elements of the task.

Page 42



GUIDE PAPER 7

49

Jessie set up a lemonade stand for three days.

2
s On Saturday, she sold 1{13 gallons of lemonade.

.1
* On Sunday, she sold SF gallons more than she sold on Saturday.
2
* On Monday, she sold 2? gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Show your work.

+ 2 R e =
= i i - i
/ el il

;:;
Ansme.('l _L?' ”—E gallons

Score Point 0 (out of 2 points)

Although some elements may contain correct matheaigbimcedures, holistically
this response isot sufficient to demonstrate even a limited understanding of

mathematical concepts in the tagke whole numbersand fractional portionsre
added together for an incorreslution.
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GUIDE PAPER 8 Additional

49 Jessie zet up a lemonade stand for three days.

+ On Saturday, she sold 10-2— gallens of lemonade.

=  On Sunday, she sold 3 ; gallons more than she sold on Saturday.
2

* On Monday, she sold 2 3 gallons less than she sold on Sunday.

How many gallons of lemonade did Jessie sell on Monday?

Show your work.

Answer 1 gallons

Score Point 0 (out of 2 points)

This responseas not sufficient to demonstrate even a limited understanding of
mathematical concepts in the task. Tubtraction shown in the work is irrelevar

and incorrect
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50 Three students performed a science experiment using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment, each of
the 3 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

Answer grams
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EXEMPLARY RESPONSE

50 Three students performed a science experiment using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment, each of
the 2 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

3x47.36=142.08

530.2-142.08 =388.12

Or other valid responss

388.12
Answer grams

Page 46




GUIDE PAPER 1 Additional

50 Three students performed a science experiment using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment,
each of the 3 students removed 47.36 grams of salt from the beaker.

How much salf, in grams, was left in the beaker at the end of the experiment?
I
Show your work. ?_\'] 2{(3

Srock 5309 X 3
’ 14303

Answer %{{\-‘ '\‘{E\k grams

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total amount of salt removed during the experiment is corre
calculated and subtrad from the total starting amount of salt to determine |
correct solutiorusing mathematically sound procedures.
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GUIDE PAPER 2

50

Three students performed a science experiment using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment,
each of the 3 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?
RNy
Show your work. )

Angwer J [ U*" grams

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical ¢ong
the task.The amount of salt removed l®achstudent is correctly subtractedree
timesfrom the total amount of salt at the beginning of the experiment to corrg
determine the solution using mathematically sound procedures.
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GUIDE PAPER 3

50

each of the 3 students removed 47.36 grams of salt from the heaker.

Three students performed a science experiment using salt and a beaker. The beaker
contained 530.2 grams of salt before the experiment started. During the experiment,

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

?ep.,“ 5; %é .
1 Y _ @
M - 14208

N20% 550

. \

, ch
C‘-”,r‘ —_— 1
- ‘A0
11 1 '\;: GE:)%
M *)L
2 550 .29
J‘f:
o
_Q
Y

Qg v
Answer_ )0 Ds ' ol grams

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total amount of salt removed during the experiment is corre
calculated and subtracted from the total starting amotirgald to determine the

correct solutiorusing mathematically sound procedures.
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GUIDE PAPER 4

50 Three students performed a science experiment using salt and a beaker. The heaker.

containsd 530.2 qrams of salt before the experiment started. During the experiment,
each of the 3 students removed 47.36 arams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?
Show your work.
Trres  H%ud®niy

leckan=s © 30-F gfans

3 Sruderts  omooved AT 36 grams
Je

| Ssuden® 0 AR
H.T"" .;," Ly
6 "-“\_J . “-} 5«’_ [ = LF]
P TP l'r —I
- Yl. 3¢ e
T L5324 4D

ir_a.f%

B : 3@
=2 a. 067
3; 9] .J - 48

TDETET ey
Answer __ 5003 grams

ScorePoint 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical co
in the task.The amount of saltemoved byeachstudent is correctly subtractéiaree
timesfrom the total amount of sadit the beginning of the experimehbwever, there
Is atranscription error from thevork for thesecond student to thveork for thethird

student (435.48Y 435.38) resulting in an incorrecfinal solution. The response
contains an incorrect solution but applies a mathematically appropriate process.
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GUIDE PAPER 5

50 Three students performed a science experimant using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment,
each of the 2 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

Answear l)\B\ : \\g grams

ScorePoint 1 (out of 2 points)

This responséemonstrates only a partial undargding of the mathematical concept
in the task.The total amount of salt removed during the experinigntall three
students is calculated; howevercalculation erroroccurs resulting in an incorrec
total amount of salt removed he resultis then corectly subtracted from the tota
starting amount of salt to determine the solutibine response contains an incorre
solution but applies a mathematically appropriate process.
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GUIDE PAPER 6

50 Three students performed a stience experiment wsing salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment,
each of the 3 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

D, peE

)"lﬁ)u T ;,«b

/‘“[ F\ - \::-.‘, 2
by “2 -O‘E EPEIE

Score Point 1 (out of 2 points)

This responsdemonstates only a partial understanding of the mathematical conc
in the task. The amount of salt removed from the bealsgpsopriatelymultiplied by
3 to accounffor thethreestudents; howeven calculation errooccurs The resultis
then subtractedrédm the total starting amount of sattpwever,anothercalculation
error occursresulting inan incorrect solution. This response contains an incori
solution but applies a mathematically appropriate process.
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GUIDE PAPER 7

50

Three students performed a science experiment using salt and a beaker. The beaker

contained 530.2 grams of salt before the experiment started. During the experiment,
cach of the 3 students removed 47.36 grams of salt from the beaker.

How much salt, in grams, was left in the beaker at the end of the experiment?

Show your work.

2
D 7 j A

) —

775U
Answer > | "‘-I"""fu grams

Score Point 0 (out of 2 points)

This responseas not sufficient to demonstrate even a limited understanding of
mathematical concepts in the task. The amount of salt removexhdsgtudent is

inappropriatelyadded to the total amount of salt in the beakehetbegnning of the
experiment.

Page53




GUIDE PAPER 8 Additional

Three students performed a science experiment using salt and a beaker. The beaker
contained 530.2 grams of salt before the experiment started. During the experiment,

each of the 3 students removed 47.36 grams of salt from the beaker.
How much salt, in grams, was left in the beaker at the end of the experiment?

-
i1 i
[t e =
& d T 2

-+

show your work.

\._--.-i[ J \ '-hi‘l_’.'l

[ .1
] :‘.'I.

)
P
(>
¥
-
!}L‘g‘\"d\i ‘l:"\l
=S

s
. .
< e
IRy
9
LY
A 30

=

-
=9
g
=

e —
+

e

Tl (AN
Answear _| s 220 ] frams

Score Point 0 (out of 2 points)

This responses not sufficient to demonstrate even a limited understanding of
mathematical concepts in the task. The addition and division operations use

irrelevant andncorrect
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51

The dimensions of Mr. Tai's living room are 10 feet »« 18 feet « 8 feet, and the
dimensions of his family room are 14 feet x 20 feet « 8 feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

Answer cubic feet
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EXEMPLARY RESPONSE

51

The dimensions of Mr. Tai's living room are 10 feet « 18 feet « B feet, and the
dimensions of his family room are 14 feet x 20 feet x 8 feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

Living Room: 10 = 18 x 8§ = 1440 cubic feet
Family Room: 14 x 20 x 8 = 2240 cubic feet

1440 + 2240 = 3680 cubic feet

Or other valid response

3680

Answer cubic feet
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GUIDE PAPER 1 Additional

51

The dimensions of Mr. Tai's living room are 10 feet = 18 feet « 8 feet, and the
dimensions of his family room are 14 feet =« 20 feet « & feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work,

0x (g x¥= 1770

HLO
%2_) 'O

Answer _,j;'lu tubic feet

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The dimensions of both rooms argemly multiplied to determine tive
volumes andhe results arappropriately addedo determinethe correct solution
using mathematically sound procedures.
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GUIDE PAPER 2

Sl The dimensions of Mr. Tai's living room are 10 feet = 18 feet « 8 feet, and the

dimensions of his family room are 14 feet =« 20 feet = B feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

o Y
xfzg x28Q

te0 00
180
%QCJ“E£%Z?
X 2

2240

1 140
3680

Answer mutﬁc feet

Score Point 2 (out of 2 points)

This response demonstrates a thorougtheustanding of the mathematical concepts
the task. The dimensiors both roomsare correctly multiplied to determine the
volumes andhe results arappropriately addedo determinethe correct solution

using mathematically sound procedures.
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GUIDE PAPER 3

51 The dimensions of Mr. Tais living room are 10 feet = 18 feet x B feet, and the

dimensions of his family room are 14 feet « 20 feet « & feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

10186 +  14*20%8

Answer 3680 |cubic feet

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.A correctexpressions provided andcorrectly evaluatedo determine the
total volume of both rooms using rtieematically sound procedures.
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GUIDE PAPER 4

51

The dimaensions of Mr. Tai's living room are 10 feet = 18 feet = 8 feet, and the

dimensions of his family room are 14 feet = 20 feet = B feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

h LI Ty LT
OR 5\ w BVE - MG ™
L TP TSR TSR LSO

MG

y 200
5,25\

Answer & ui-ﬁh cubic feet

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task.The volume of the living room is calculated corregtlgowever, a
calculation error occurs in theultiplication operationfor the volume of the family
room. Both volumes are theamppropriately addedo determinethe solution This
response contains an incorrect solution but applies a mathematically appro
process.
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GUIDE PAPER 5

51 The dimensions of Mr. Tai's living room are 10 feet x 18 feet x 8 feet, and the

dimensions of his family room are 14 feet « 20 feet x 8 feet. What is the total
volume, in cublc feet, of the two rooms?

Show your work.

14F T 20F T=280F T"8F T=2 240F T=FAMILY ROOM 10FT*18F T=180F T"8=1,440F T=MR.TIAS
ROOM

Answer | (NOSTUDENTRESPONSE GIVEN) | cubic feet

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task.All dimensions areappropriately multiplied and botimdividual room
volumes are correctly deterneid; however, the are not added to calculate ttoal
volume The response correctly addresses only some elements of the task.
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GUIDE PAPER 6

51

The dimensions of Mr. Tai's living room are 10 feet x 18 feet x 8 feet, and the

dimensions of his family room are 14 feet x 20 feet x 8 feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

10x18x8=1440. 14x20x8=2300. 2300+1440=3740 total cubic feet

Answer 3740

cubic feet

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the emadltical concepts
in the task.The volume of the living room is calculated corregtlgowever, a
calculation error occurs in the multiplicatioperationgor the volume of the family
room. Both volumes are themppropriately addedo determinethe solution. This

response contains an incorrect solution but applies a mathematically appro
process.
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GUIDE PAPER 7

51

The dimensions of Mr. Tai's living room are 10 feet = 1B feet = 8 feet, and the

dimensions of his family room are 14 feet = 20 feet = B feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work,

Answer J]ﬂ_lﬂ_f] cubic feet

Score Point 0 (out of 2 points)

This response is not sufficient to demonstrate even a limited understanding (¢
mathematical carepts in the taskl'he volumes are incorrectly calculated using on
two dimensions each.
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GUIDE PAPER 8 Additional

51

The dimensions of Mr. Tai's living room are 10 feet x 18 feet x 8 feet, and the

dimensions of his family room are 14 feet x 20 feet x 8 feet. What is the total
volume, in cubic feet, of the two rooms?

Show your work.

the answer is 2240

Answer

2240

cubic feet

This responseas not sufficient to demonstrate even a limited understanding of
mathematical conceptis the task.The solution igncorrect and no work ishown to

Score Point 0 (out of 2 points)

demonstratdow it is obtained.
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52 The diagram below shows a set of three different-sized containers Tanner used for

storing dry goods. The largest container held 12% cups of dry goods.

A % of the amount +
in container A

% of the amount
. in container B C

What was the total amount, in cups, of dry goods that Tanner could store in all three
containers?

Show your work.

Answer cups
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EXEMPLARY RESPONSE

52

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goods. The largest container held 12% cups of dry goods.

N—)

A % of the amount
in container A

% of the amount
- in container B C

What was the total amount, in cups, of dry goods that Tanner could store in all three
containers?

Show your work.

Container B amount: 1234 x 24 =14 x24=1014,=8l4
Container C amount: 174 =34 =34=5%4
Total amount for all containers:

1234+ 844 + 524 = 13345 +- 10245+ 684, = 3234, = 26114

Or other valid response

2614,

Answer cups
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GUIDE PAPER 1 Additional

52 The diagram below shows a set of three different-sized containers Tanner used for

storing dry goads. The largest container held 12% cups of dry goods,

A %:ﬁﬁmmﬂmmt
in container A [

2 of the amount
in container B

C

What was the total amount, in w‘E‘s, of dry goods that Tanner could store in aII three

contaners? _ 1[\
. .-.-‘-\-‘ by A = II
' 3 Rl .
Show your work, Y 3’ - _E_ L Y . S
W T S/ % el
'{\\‘H} L \ gl Oy ...--_"_“-“_ =1
W D = 3 2L "
e U Y . p|
N A
Answer — S \ 2 cups

Score Point 3 (out of 3 points)

This response demonstrates a thorough undelisgof the mathematical concepts i
the task. Appropriate and correct manipulations of fractlmetsveenimproperand
properform along with multiplicationand addition of the fractions isarried out to
determine the correct solution using mathematicaiynd procedures
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GUIDE PAPER 2

52

The diagram below shows a set of three different-sized containers Tanner used for
storing dry goods. The largest container held 12% cups of dry goods.

3
A % of the armount
in container A B
| % of the ainount
% % —'E in container B C
4

What was the total amount, in cups, of dry goods that Tanner could store in all thrae
containers?

Show youyr work.

zc3 M
i é\i‘—]l
5) J, e
) % g, i —‘?;’f—»
> I &
i 2 Sl
‘;\:.--""'_ ?_:_F}r.-?-_-_ = 3 .- r [
= <) = A ﬁ
L wd 1L Pa
"'\ﬂhﬁ =,
W7, ( |7 Z Y 2
= 3 TXsT O3
C —= o =
1\ !
Vi
Answer '

cups

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. Appropriate and correct manipulations of fractlwetsveenimproperand
properform along with multiplicationand addition of the fractionis carried out to
determine the correct solution using mathematically sound procedures.
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GUIDE PAPER 3

52

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goads. The largest container held 12% cups of dry goods,

17
LI
-

\7

A % of the amount s
in container A

[

in container B

2 ufﬂ'laamourrt[

What was the total amount, in cups, of dry goods that Tanner could store in all three

containers?
2GQ®”Y
Show your work. :
o NVAYL
7 = 2M \7 ;
25 53 s 3. Y
o} 7.7 12 > 7 2
. —e U L
(7.5 17—
=277 kL ] W2
25" o 122 il
X 78 vz o
3 12 S - 3
gl \93 3 e
e -1 L
T xs T L0 ERe UIx2= 3
A e, E MY -
Pl \ |
S 5 R
LN 17 - (17
i = \ !
1, ] 7~ z
A zg’}i > 79 :5' i1
nSWer cups ?}5 >3

Score Point 3 (out of 3 points)

This response demonstrates a thorough understaaflthg mathematical concepts it
the task. Appropriate and correct manipulations of fractlwetsveenimproperand
properform along with multiplicationrand addition of the fractions isarried out to
determine the correct solution using mathematically dguocedures
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GUIDE PAPER 4

52

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goads, The largest container held 12% cups of dry goods,

£y
A -%cﬁﬂmamumn

in container A B
z of the amount
in container B

What was the total amount, in cups, of dry goods that Tanner could store in all thme

e ' t\" [f\] ‘}’ B: 1i1 C C

Show your work = “_'-"\“lf' .
PRV N op \6250% D1 :
=7 DI e AT DL B
hi | -'-'ﬁyd_..__ \‘,, e . ’:_r \
. \f_(;- 3 - B q 5 % '-(93"""7
\ }.f\,--__ ’}J—"\p
e M
it o i o g
1 "i_; TIL
|{”.]I v tA
The
£
.n1 L
E]Q L?‘I»-Jh? Illrl..

Answer [J*/I %.,, cups of t'_IIPf gcoé';

Score Point 2 (out of 3 points)

This respons@lemonstrates a partial understanding of the ema#tical concepts in
the task.The amount in container B is correctly determin@the operation to
calculate the amourih container C is correlgt provided; however,the value8ty is
incorrectly convertedinto an improper fraction(8'a Y °). The three amounts arg
then correctly added to determine the solution. This response contains an ing
solution but provides sound procedures.
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GUIDE PAPER 5

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goods. The largest container held 12% cups of dry goods.

A % of the amount
in container A
B z of the amount
in container B

What was the total amount, in cups, of dry goods that Tanner could store in all three

containars?
Show yvour work, 19
5 ¥ 3=
o E\J’\{E: 51%}? j’H
3 A 4
A—’l'(}ﬁ Ty - 3 _'E;;E_r:
8:(6"?[}1 -(91 g 103 - \
P - L,U'-,? ...:.._.:'_ ij_“
Lov&E_ s T ! &
b Y% - al,
m— ~ 1'1 U‘ ,
SRR v 12
X4
c‘{:‘l
£+173
T09
\ A
Amswer 2 cups

Score Point 2 (out of 3 points)

This responselemonstrates a partial understanding of the mathematical concey
the task. The amounts for containers B and C are corietiylated however, when
all three amounts in the containeme added to determine the sadationly the
fractional portiols of eachcontainerare includedThis response reflects some ming
misunderstanding of the underlying mathematcacedures.
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GUIDE PAPER 6

52 The diagram below shows a set of three different-sized containers Tanner used for

storing dry goods, The largest container held 12% cups of dry goods.

A %nﬂﬂwamomﬂ

in container A B
2 of the amount
in container B

What was the total amount, in cups, of dry goods that Tenner could store ?n all thma /

containers? A; !2?:-—\/ ;«g‘z

Show your work.

AN
Ul 7\//5 Vs

%

Score Point 2 (out of 3 points)

This response@lemonstrates a partiahderstanding of the mathematical concepts
the task. The amounts for containers B and C are correctly determined. The an
from all three containers are then correctly adtedetermine the totahowever,a
transcription error for thamount in cordiner A (12%uY 12%g) results in arincorrect
solution This response contains an incorrect solution but provides sound procedt
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GUIDE PAPER 7

52 The diagram below shows a set of three different-sized containers Tanner used for

storing dry goads, The largest container held 12% cups of dry goods.

A %wﬂﬂmmmmm
in container A { —

B % of the amount Ii
C

in container B
What was the total amount, in cups, of dry goods that Tanner could store in all three

containers?
Show your work, Aéﬂl.{
p 2 ?L:.-;___?
13 2 d
|da X3~
y 3
-

x 5| y, 2008 oo IR 5
123 e 4 ?/ %
! 5 C, 5 ‘?‘1’3{
(12 ghxdz i

102 =3 13 - ({0 & |
Answer = cups '.::? %C) ’2«)5» M
T d) s S
2 Y

ScorePoint 1 (out of 3 points)

This response demonstrates only a limited understanding of the naditedm
concepts in the tasklhe amounts in containers B and C are correctly calcuylaf
however, theamounts are not added to determine a total anddtsion isincorrect
This response addresses some elements of the task correctly but reachegjaateng
solution and provides reasoning that is incomplete.
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GUID E PAPER 8 Additional

52

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goods. The largest container held 12% cups of dry goods.

A % of the amount

in container A B
z of the amount
in container B

What was the total amount, in cups, of dry goods that Tanner could store in all three
containers? j“

& /0y DY
et T L
g AR

34}&_*-4‘ ;KT—O{ -
] v . = _ j-
A3+ 55+ 5F | 4 7oy
'-‘-_i P-Eg 9-_ ‘ -_‘ J‘H 'lf-:‘I
(X9 V3" 6 —_—
98) (A Ty +5 =ar
Answer ’ Cups

ScorePoint 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task.H& amount in container Bs correctly nultiplied by 2g;

however, container Abs amount i'S no
(>WY 52). ContainerC is correctly calculated r om cont ai ner B
there is a calculation error when the three amountadaed togetheiThis response
addresses some elements of the task correctly but reaches an inadequate solutic
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GUIDE PAPER 9

52

The diagram below shows a set of three different-sized containers Tanner used for

storing dry goads. The largest container hald 12% cups of dry goods,

A %wﬂmemmmn

in container A
B 2 of the amount
in container B

What was the totsl amount, in cups, of dry goods that Tanner could store in all three
containers? 'R

Show your work 1 i

n EET

cups

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. Eramourd in containes A and Baredivided by?g instead of
multiplied by?yg to determine the amotsin containers B and CThe three amounts
are then correctly added to determine the solufidns response reflects a lack g
essential understanding of the underlying mathematical concepts.
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GUIDE PAPER 10

52

The diagram below shows a set of three different-sized containers Tanner used for
storing dry goods. The largest container held 12% cups of dry goods.

A % of the amount
in container A

B 2 oftheamount § [
in container B C

What was the total amount, in cups, of dry goods that Tanner could store in all three
containers?

ij ¥+ - -E?:'
AV e
Show your work. A" 2
. — T
2 _q ~q o CaarnerA - T2 R
€2 \ 21"+ Coveoire =)
. --z- S (oo C= |\ | 5
2. = |
= V2 . 7 -
P | - =,
7 L - ryrtaner \ O
L = oM \ £
>
P>
P ‘e
——x /3
365 - Yo
o _ 1
N 56?
Answer 56 4 cups

Score Point 0 (out of 3 points)

This responseas not sufficient to demonstrate even a limited understanding of
mathematical concepts in the tagkthough the final addition is performed correctly
an incorrect procedure is useddetermine the amounts in containers B and C.
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GUIDE PAPER 11 Additional

52

The diagram below shows a set of three different-sized containers Tanner used for
storing dry goods. The largest container held 12% cups of dry goads.

T

12 '?{'
L
t’ -
A % of the amount K e WA
in contalner A 5 b o
% of the amount
in container B C

What was the total amount, in cups, of dry goods that Tanner could store in all three

containers?
22 =) 2 _ |13
Skow your work. g ¢ 2 i -ll *:’51
. 3 3
9‘ X '[p - —-5:.""! -'Ii""" i —
b ————— :_.,.—-—'—-" e ‘ } L‘? f -
\ D L4z i %%'ﬁ'
. —_—
O
|22 ¢ % 19
T e_z—_;‘w?— 2-2=1
5 R T-'-[—F-'____‘?-:
_L__ | \ A - 3 3
] JJWG_ ?L‘q“:_f-’f" :"_‘,_‘_
' i “%‘{3'3
! T‘E; h::_ S
2 = .
Answer r5ounlrs cups

Score Point 0 (out of 3 points)

This responseas not sufficient to demonstrate even a limited understanding of
mathematical concepts in the taske solution is incorrect andelevant.
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53

A juice company produced 8,064 cartons of juice in 21 days. Each day, they produced
the same number of cartons and delivered those cartons to 16 area coffee shops. The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in each delivery. How many cases were delivered to each coffee
shop each day?

Show your work.

Answer cases
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EXEMPLARY RESPONSE

53

A Juice company produced 8,054 cartons of Julce in 21 days. Each day, they preduced
the same number of cartons and delivered those cartons to 16 area coffee shops. The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in each delivery. How many cases were delivered to each coffee
shop each day?

Show your work.

8,064 cartons in 21 days delivered equally to 16 stores daily
8,064 = 21 = 384 cartons per day
384 = 6 = 64 cases per day

64 + 16 = 4 cases per day per coffee shop

Or

16 = 21 = 336 total number of deliveries for 21 days to all 16 coffee shops
8,067 =336 = 24 cartons per day per coffee shop

24 = 6 = 4 cases per day per coffee shop

Or other valid response
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GUIDE PAPER 1

Additional

53 A juice eompany praduced 8064 cartons of juice in 21 days Each day, they praduced

shop each day?

0

3 7 21 l

O @) 2 =1 £

-, -- 7 _'_ 4 JT.‘?’ "IG‘- 7 1
f:} i "‘II?\ ﬁu}% -‘:]

L\

far-1-4-14

the same number of cartons and delivered those cartons to 16 area coffes thops, The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in 2ach delivery. How many Cases were deliversd to each coffes

.______J'

234 wr—trrh :rodﬂ“d
AC f“ DJﬂ
ol &

|,

-2
JKZJ
_bY

|
F

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total number of cartons proddceach day, the number of cartor
delivered to each coffee shand the number of casdslivered to each coffee shoj
per dayare all appropriately and correctly calculatedieterminghe correct solution

using mathematically sound procedures.
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GUIDE PAPER 2

53 A Juice eompany produced B,064 cartons of joics in 21 days. Each day, they produced

the same number of cartens and delivered those cartons to 16 arza coffes shops, The
cartons were delivered in cases of six cartons per case, and sach coffee shop receivad an

equal numbear of cases in each delivery. How many cases were delivered to each coffee
shop each day?

Show your work.

Answer d_f Cases

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The total number of cartons produced each day, the number of ca
delivered to each coffee shop and the nundfecases delivered to each coffee sh
per day are all appropriately and correctly calculadedetermindghe correct solution
using mathematically sound procedures.
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GUIDE PAPER 3

53 A juice company produced 8,064 of juice in 21 days. Each day, they produced
the same number of cartons and delivered those cartons to 16 area coffee shops. The
cartons were delivered in cases of | six cartons per case, and each coffee shop received an

egual number of cases in 2ach delivery. How many cases were delivered to each coffes
shop each day?

Show your work.

PRERS

Score Point 3 (out of 3 points)

This response demonstratetharough understanding of the mathematical concepty
the task.The total number of deliveries for 21 days for all coffee shop®rectly
calculated and used to determine the number of cartons per delivetyeandmber
of cases for each coffee shogrpday The correct solution is obtaineasing
mathematically sound procedures.
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GUIDE PAPER 4

53 A juice company produced 8,064 cartons of juice in 21 days. Each day, they produced

the same number of cartons and delivered those cartons to 16 area coffee shops, The
cartons were delivered in cases of six cartons per case, and sach coffee shop received an
equal number of cases in 2ach delivery. How many cases were delivered to each coffee
shop each day?

Show your work.

-~

b
B

Answer - cases

Score Point 2 (out of 3 points)

This response@lemonstrates a partial understanding of the mathematical concey
the task. The total number of dedives over 21 days and the totalmber of cartons
per delivery iscorrectly calculatedhowever, the number of cases per delivery to ea
coffee shop is not calculated. This response appropriately addresses most, but
aspects of the task using mamatically sound procedures.
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GUIDE PAPER 5

53 A juice company produced 8,064 cartons of juice in 21 days. Eachi rﬂay, they produced

the same number of cartons and delivered those cartons to 16 area coffee shops. The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in each delivery. How many cases were delivered to each coffee
shop each day?

Show your work.

i II.-'rl.-. 9 !'j:
[~ / iy 'anr.
/ e
Vo /L .‘I1 \{‘g? l: q
u 22
\~
Answer cases

Score Point 2 (out of 3 points)

This responselemonstrates a partial understanding of the mathematical concey
the task. The total number of cartons and cases delivered to each coffee shop j
is correctly calculated; howevaei,is unclear how the number of cartons produc
each day is obtained as no nkds shown This response appropriately address
most, but not all aspects of the task using mathematically sound procedures.
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GUIDE PAPER 6

53 A juice company produced 8,064 cartons of juice in 21 days. Each day, they produced

the same number of cartens and delivered these cartons to 16 area coffes shops, The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in sach delivery. How many cases were delivered to each coffes
shop each day?

Show your work.

" ’:‘!(% Li £ ;-J_ hS }'JF(

\6 ( 3 collms ) ﬁéﬁi‘ Dy
, | :

13 e
\5 3G ’
— WY&
2 \ ( ?
Ly b
o ¢4
" -30,
0
A
A
Answer cases

Score Point 2 (out of 3 points)

This responselemonstrates a partial understanding of the mathematical concey
the task The total number of cartons produced each idagorrectly calculated;
however the work to determine th@umber of case produced each day contains
calculation error(384+ 6 = 63). The calculation to determine the number of cag
delivered to each coffee shop per dayounded to the nearest whole casthe
response reflects some minor misunderstanding of the unaepyocedures.
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GUIDE PAPER 7

53 A juice company produced 8,064 cartons of juice in 21 days. Each day, they produced

shop each day?

Show your work.

™
7
\& ¥
l. -."Cll\
X *a
«a'.l_ L
r_ '-E\
2\
<
aZ
24 o
Answer v \E;W _cases

the same numbsr of cartens and delivered those cartons to 16 area coffes shops. The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in each delivery. How many cases were delivered to each coffes

ScorePoint 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. The total number of cartons produced by the juice compal
day is correctly calcutad; however, itis misinterpreted as the number of cas
delivered to each coffee shop each day. This response reflects a lack of es

understanding of the underlying mathematical concepts.
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GUID E PAPER 8 Additional

53 A juice company produced 8,064 cartons of juice in 21 days. Each day, they produced

the same number of cartons and delivered those cartons to 16 area coffee shops. The
cartons were delivered in cases of six cartons per case, and each coffee shop received an
equal number of cases in each delivery. How many cases were delivered to each coffee

shop each day?
f:"(*!’_‘.'" ot I
Show your work. ""L]I#}
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Answer cases

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. The correct operation to calculate the total number of cg
produced per day is provided; howevartranscription erro(8 0 6 4 8065)and a
calculation erro8065+ 21 = 684)resuls in an incorrect number of cartons per da
The calculated number of cartons per day is correctly divided by the 16 coffee §
which arethen divided by the number of cartons per cases toeaat the solution
however remainders are ignored in the workhis responsexhibits multiple flaws
related to misunderstanding of importaspects of the task
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GUIDE PAPER 9

53

Score Point 1 (out of 3 points)

This response demonstrates onlylimited understanding of the mathematicq
concepts in the task. The total number of cartons per coffee shop for the 21 day
total number of cartons per dand the total number of cases produced in 21 days
all calculated; however, the total numlod cartons delivered per coffee shoger the
21 days is incorrectly chosen as the solution. This response reflects a lack of es
understanding of the underlying mathematical concepts of the task.
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